CALCULATION OF WEIGHTS FOR EACH CASE


A. Unequal Probability of Selection - Sampling Weight


Stratum 
N Eligibles
N Phones
Sampling


 rel f
  in HH
 in HH 
 weight


  /
    *
   /
   =


  1
    2
   1
   2


  1
    3
   2
  _____ 3/2


  2
    1
   1
  _____ 1/2


  3
    2
   1
  _____ 2/3


  3
    2
   2
  _____ 2/6 

B. Non-response Adjustment


Stratum
Response
Non-resp


 
  rate
 adjust


   1
  .70
1/.70 = 1.4286


   2
  .65
________  1/.65 = 1.5385 


   3
  .50
________  1/.50 = 2

C. Post-stratification Adjustment


Group
Percent
Percent
Poststrat



in Pop
in Samp
 adjust




 (wtd)


Male ≤30
  25%
  20% 
25/20 = 1.25


Male >30 
  25
  25
_______ 25/25 = 1


Fem  ≤30 
  25
  27
_______ 25/27=.926


Fem  >30  
  25
  28
_______ 25/28=.893



_____
_____



 100%
 100%            

Final Weight:


Weighti = (Samp wt) * (Non-resp adjust) * (Poststrat adjust)


Relative weight: wi = k * Weighti

  (k chosen so that Σwi = sample size)             

